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MODEL QUESTION 01

1. Fill in each gap with a suitable word from the box. There are more words than necessary.

| dignity | boastful | employment | a | tough | from | youth | towards | undergo |
(a) — is a worldwide problem. No country of the world can (b) — claim that it is absolutely free from the
problem. Getting a job is the (c) — task nowadays. An unemployed young man has to (d) — great deal of
trouble, anxiety and humiliation to find out (e)——job. He has to run (f) — office to office, or man to man
to get a job. For want of (g) — many people have to lead a vagabond life. Our students and (h) — should
be made to change their attitude (i) — life. They should be made to realize that self-employment is the most

(j) — way for employment.

a d g j
b e h
c f i

2. Fill in the blanks with suitable words.

Sleep is one of (a) — most important factors (b) — human life. (c) — sound man cannot go (d) — sleeping.
Sleepis (e) — healing medicine of the troubled (f) —. It relieves physical and mental pain. Night is the proper
time of (g) —. So, if (h) — man has to pass a sleepless night, he never feels well. He loses energy and peace
of mind. As a result, he becomes indifferent (i) — his (j) — and responsibilities.

a d g j
b e h
c f i
3. Read the following table and make five sentences:
A B C
The traffic jam the cause of | reasons that create traffic jam.
In great cities of the world | are traffic jam is the huge number of vehicles.
But in our country there | is caused most acute during the time people go to or return from
their working places.
Traffic jams are various feature of city life today.
Great suffering isa common | to people by traffic jam.

4. Complete the following text with right forms of the verbs given in the box:

undergo flood be follow provide become
rise get die predict increase raise
The world (a)— warmer because of pollution. Every year millions of people all over the world (b) —

unnecessarily as a result of pollution. In the recent year there (c) — alarming reports that the world's climate
(d) — a significant change. All these reports (e) — strong evidence that world temperature (f) — day by day.
Climatologists (g) — that midway through the next century temperature may have (h) — as much as 4°
Celsius. This could (i) — sea levels and thereby (j) — coastal areas and farmlands.
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5. Rewrite the following passage in the reported speech.

"Oh boys, please! Stop the cruel fun. Don't throw stones at us." "Isn't it a game? We are enjoying it,” said
the boys. “What is game to you causes death to us. This is why you should stop this,” answered the old frog.

6. Change the sentences according to directions.
(a) Nothing comes out of nothing. (Affirmative)
(b) When did you seek for me? (Negative)
(c) She told me something and | did not understand it. (Simple)
(d) Usually, I hate doing all these. (Compound)

(e) The fact what you described was not truer than that she explained. (Positive) (f) Let me make it sure
whether somebody follows her. (Passive)

(g) Bangladesh should educate English and ICT to all her people otherwise she cannot hope to be at le to
be digitalized. (Complex)

(h) They could not reach the station in time since the weather was extremely rough. (Simple)

(i) The effect of the pollution affected environment contains a lot of miseries and sufferings for the
unfortunate common people living in the world. (Passive)

(j) One should take care of one's health. (Passive) .
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7. Complete the following sentences:

(a) Flood is a calamity that

(b) Bangladesh has become a victim of flood and

(c) We generally think that

(d) Flood causes heavy damage not only to our life

(e) After-effect of flood is even more serious than
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8. Complete the following passage using appropriate suffix or prefix to the words.

Answer to the questions in the examination should be to the point. You should not (a) —(large) — your
answers (b) — (necessary) — . When you write main ideas, you can (c) — (short) — your sentences. Only
(d) — (elaborate) — of the answers is simply a (e) — (waste) — of time. This practice (f) — (please) —
the (g) — (examine) — and they got (h) — (irritate) — and do not want to give high marks. So, students are
advised to be (i) — (caution) — to avoid (j) — (relevant) — point in their answer.
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9. Fillin the blanks with tag questions.
(a) A barking dog seldom bites, ?
(b) A good student is always attentive to his study, ?
(c) Bangladesh is a small country, ?
(d) Birds fly, 7
(e) Callin a doctor, ?
10. Complete the passage using 'suitable connectors.
(a) — flood is considered to be a natural calamity, it is no doubt a blessing for the people. It is considered
to be a blessing in the sense (b) — it makes the soil alluvial (c) — silt is scattered over land after land (d) —

— flood and makes the soil fertile. So, it can be said that the flood has (e) — constructive and destructive
sides.

a c e

b d

11. Use capitals and punctuation marks where necessary in the following text.
once my mother said to me who came to you my friend rumi mom she asked what did she want i said her
mother is ill she needs some money i have given her five hundred takes my mother said wonderful.
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